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092 o09gl = 092 108 = 09 138 = 092 14 =t 09 15¢ =
st2RrpOiZt 200,000 | DM EZ 91,300 | X712 3,500 | SRHAIFEE 18,000
SRR 35700 | S Dx{O|xt 48,200 ST 2,500
AMESAHDE 5,000 SeHHEEZI( 9,100
SA2 23,000
a5 =Mz 4,000 | 2X82 15,000 SO0 BxH 50,000
=252 6,000 | e 65,000
=Ty f=dsl 32,000 | =F0 St 32,000 | =F0Z 8t 32,000 | =F0Z B 32,000 | =EHOZ B 32,000
AME ) 5000 | MHE=) < 55000 | AME =) £ 5000 | FEE) 4 15,000 | ME I 4 5,000
287,700 306,500 40,500 149,600 37,000
sH2RPOHZH 150,000 | =0T 2= g =0 el 3,500 | SeHAIE 26 30,000
SeHE 0 11,200 SeHHE 10,000
SO UE 8,500 SO 23,000
Sh== s = 110,000 | S A2 30,000
22l =00 SA 43,000 | S DH KX 61,000
) |k 6,000 | =rmwr= 5,000 | =hHE /e 7,000 | ShE/ws 7.000 | =hmE e 7.000
Z=EoZ 32,000 | === 32,000 | === 32,000 | == 2 32,000 | == 2 32,000
ZIEIMY & 9,000 | 7IEtMIEY & 5000 | 7IEHMIY & 5000 | EEHM & 60,000 | 7IEtMIE & 5,000
360,700 133,000 47,500 162,000 44,000
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At 24 1.36% 1,700
At 19FRN CD+5 1,700
Ared 44 1.72% 1,600
=8 19FRN  CD+15 5,500
Mzt 19FRN  CD+14 1,500
= 19FRN CD+15 5,300

2 & ok 7| )]
CD A 0

KIDB X237



